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THE CANDIDATES MUST READ THESE
INSTRUCTIONS CAREFULLY BEFORE ATTEMPTING
THE QUESTIONS IN THE QUESTION BOOKLET.

1. Mark carefully your Roll Number, Application
Number, Question Booklet Number and Question
Booklet Series on the OMR Answer Sheet and sign
at the appropriate place. Write your Roll Number
and Name on the Question Booklet. In the absence
of Roll Number, Application Number, Question
Booklet Number and Question Booklet Series on
the OMR Answer Sheet, it may NOT be evaluated
and it may be cancelled. .

2. The entire Test is of Objective Type Questions
comprising 200 questions. AIl questions are
compulsory. Each question carries One Mark. There
is no negative marking for any wrong answer.
Questions are in both English and Hindi.

3. The candidate must check that the Question '
Booklet contains 200 mult1ple choice questions in
40 pages. If any discrepancy is found, report to the
invigilator immediately:

4. Chosen options are to be indicated only on the OMR
Answer Sheet, as per instructions given on the
OMR Answer Sheet, taking care to enter the
answer in the space provided in the OMR Answer
Sheet for the concerned question number (as given
in the Question Booklet).

5. The candidate must use a BLUE/BLACK ball point
pen ONLY to make entries on the OMR Answer Sheet.

6. Rough work may be done on the space provided in this
Question Booklet, but not on the OMR Answer Sheet.

7. At the end of the Test, the candidate must submit
the OMR Answer Sheet to the invigilator on duty.
Candidates are free to take away their Question
Booklet with them.

8. In case. of any ambiguity in translation of any
question, English version shall be treated as final.

Please refer the backside of the Question Booklet
for more instructions.
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Two words separated by a ', and bearing a

2

certain relationship with each other, have
been given on one side of : :’. From among the
options, select the one that bears a similar
relationship with the words given on the other
side of 2 ;. |

Quiver : Arrows : Scabbard : ?
(A) Baby |
(B) Tennis Racket |
(C) Binoculars

(D) Sword

What will come in place of the question mark

(?) in the following number series ?
125, 171, 263, 401, 585, ?

(&) 835

(B) 815

(C) 792

(D). . 788

" Six friends, namely A, B, C, D, E and F, are -

sitting on a round table facing each other. C is
at the fourth place from A's right.v F is at the
immediate right of A. C is between B and D.
E is between B and F.

On the basis of the above conditions, select the
statement that is not true.

(A) Cis at the immediate left of A.
(B) Fisbetween A and E.
(C) Disbetween A apd» C.

(D) D is sitting opposite of E.
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(3 -D)

The question given below is based on the
following letter-number~symbol arrangement.
Study it carefully and answer the given
question.

.@J@l#2K36$L242R642G52$Q42%

Which letter/number/symbol will be the 7R
letter to the left of the letter/number/symbol
which is 3™ from the right ?

A) 4 B) 3
©) 5 ™ 1

How many sets of two letters have as many
letters between them as they have in the
alphabetical order in the word ‘PRUDENT’ ?

(A4) 4 (B) 0
© 2 D) 3
Directions : In the following question below

are given two statements followed by two
conclusions numbered I and I1. You have to
. take the two given statements to be true even
if they seem to be at variance from commonly
known facts and decide which of the given
conclusion(s) logically follow(s) from the two
given statements, disregarding commonly
known facts.

Statements : ,

I. Some rats are rabbits.

II. Some rabbits are mosquitoes.

Conclusions : . ‘
I. Some mosquitoes must be rats.
II. All rabbits are rats. -

‘Give answer as

(A) If only conclusion I follows

®B) If ohly conclusion II follows

(C) Ifboth conclusions I and II foilovv

(D) If neither conclusion I nor conclusion II
follows .
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Directions : In the following question below
are given a question and two statements
numbered I and II. You have to decide
whether the data provided in the statements
are sufficient to answer the question. Read
both the statements and give your answer.

What is the code for ‘walks’ in the code

language ? ‘

Statements :

1. In the code ‘lé}nguage, ‘she walks fast’ is
written as ‘he ka to’. ' o

IL In the code language, ‘she learns fast’ is -
written as 9o ka he’ .

(A) If the data in Statement 1 alone are
sufficient to answer the question, while
the data in Statement II alone are not
sufficient to answer the question.

"(B) If the data in Statement II alone are

sufficient to answer the question, while
the data in Statement 1 alone are not
sufficient to answer the question.

(C) If the data in both the Statements I and
II together are necessary to answer the
_ question. '

(D) If the data in both the Statements I and
II are not sufficient to answer the
question.

If ‘P x @ means P is the daughter of @),
P+ Q means ‘P is the father of Q} P+ Q
means ‘P is the mother of @ and ‘P - Q means
‘P is the brother of @, then in the expression
A =B +C—E xF, how is A related to F ?

(A) Mother—in—LaW
(B) Aunt
(C) Daughter-in-law .

(D) Sister-in-law -
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(A) CAR (B) CABLE
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In a certain code, BREAKING is written as
BFSCFMHJ. How will MOTHERLY be
written in that code ?

(A) TUPNZMSF
(B) TUPNXKQD
(C) IUPNFSMZ
(D) GSNLZMSF

10. EM3P57RTVZ9‘DIFQX46H128W

11.

12.

(5 - D)

Which of the following is exactly in fh'e middle

. between. the 72 letter/mnumber from the left

end and the ch letter/mumber from the right
end of the above sequence ?

A D B) 9.
© 1 D) Vv

Which answer image completes the pattern
- shown in the question image ?

N IEE
w ol *'

o (

"

o -

Which one of the following 'Wor’ds cannot be
formed by using the letters of the word
VOCABULARY ?

(A) CAR
(C) OAR

' (B) CABLE
(D) OCULAR
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Which among the following States share their
boundaries with Uttar Pradesh ?

(A) Chhattisgarh, ‘Jharkhand, Rajasthan,
Himachal Pradesh
(B) Chhattisgarh, Himachal Pradesh,

Punjab, Jharkhand

© Jharkhand, Rajasfhan, West Bengal,
Telangana ‘ .
(D) Himachal Pradesh, Punjab, Jharkhand,

Rajasthan
Which city of Uttar Pradesh is khown as the
cultural capital of India ?

(A) Basti

(B) Mathura

(C) Varanasi

(D) Banda

The four headed lion, adopted as a national
emblem by the Government of India, is located
in i '
(A) Agra
(C) Sarnath

(B) Mathura
(D) Vrindavan

Who among the following had established the

' Banaras Hindu University ?

(A) Raja Ram Mohan Roy
(B) Syed Ahmed Khan

(C) Jawahar Lal Nehru
(D) Madan Mohan Malviya

Which one of the following cities has the only
oil refinery located in Uttar Pradesh ? '
(A) Agra ‘

(B) Mathura

(C) Barauni

(D) Kanpur
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" Mirzapur,

Which of the following cities are correctly
matched to their specialities 7

I. Moradabad — Leather, Textiles
II. Firozabad — Glass & Glass products -

III. Kanpur — Brassware

IV. Varanasi — Handloom & Handicrafts
(A) TendII (B) Il and III

(C) Mand IV (D) Il and IV

Which of the following statements is true
about Govind Ballabh Pant ?

&)
B)
(©)
(D)

Renowned singer from Agra Gharana
First Governor of UP
First Chief Minister of UP

Important exponent ef the classical dance
form of Kathak

Which of the following items is produced in
Bhadohi and Khamaria (Uttar
Pradesh) that accounts for almost 90% of total

exports of India ?
(A) Bangles

(B) Carpets

(C) Utensils

(D) Silk Sarees

How many members does the Vidhan Sabha of
Uttar Pradesh have 7

(A) 400 are elected and 3 nominated

(B) 403 are elected and 1 nominated

(C) 401 are elected and 3 nominated

(D) 405 are elected
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25.

(8 - D)

(D)

Who was the.15% Governor of Uttar Pradesh

(formerly United Province) in Independent
India ?

(A) Francis Verner Wylie

B) vSarojini Naidu

(C) Justice Shri B.B. Malik

(D) H.P. Modi
How does High Court set up functions in Uttar
Pradesh ?

High Court and 'its‘bench, both are at
Allahabad

(A)

High Court is at Allahabad with its bench
at Lucknow

B)

(C) High Court is at Lucknow with its bench

at Allahabad

High Court and its bench; both are at
Lucknow

Which of these minerals. are found in

Mirzapur district of Uttar Pradesh ?
(A) Bauxife,' Giass-sand, Limestone
(B) Glass-sand, Marble, Dolomite.

(C) Limestone, Dolomite, Marbblev

(D) Bauxite, Glass-sand, Limestone
Which of the .following Tiger Reserves are
located in Uttar Pradesh ?

(A) Dudhwa, Amangarh,

Bandhavgarh

Kanlha,

(B) Pilibhit, Bandipur, Ranthambore, Rajaji

©) Amangarh,
Bandipur

Pilibhit,

Bandhavgarh,

(D) Dudhwa, Amangarh, Pilibhit

620672
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D)

What are the System International (SI) units |
of mass, length and time ? :

(A)
(B)

kilogram (kg), meter (m) and second (s)

gram (g), meter (m) and second (s)

(C) gram (g), kilometer (km) and second (s)
(D) kilogram (kg), kilometer (km) and
hour (h)

Which among the following is the heaviest
element found on Earth in terms of Atomic
Weight ? '

(A) Copper
(C) Silver

(B) Iron

(D) Uranium

Which branch of Medicine deals with "Body
tissues and fluids" ?

(B) Paediatrics

(D) Physiotherapy

(A) Phai*macology
(C) Pathology
Which of these is the appropr{ate method to

increase the friction between the surface and
the object ? ‘

(A) Increasing the roughness of the surface

(B) Use of rollers

(C) Use of ball bearings

(D) By lubrication

Which of fhe following type of lever is used in
"Working of a Nut cracker" ?

(A) Class 1lever

(B) Class 2 lever

(C) Class 3 lever

(D) None of these

Which of the following Vitamin is found

mostly in " Citrus fruits, strawberries and
potatoes ?

(A) Vitamin A
(B) Vitamin D’
(C) Vitamin E

(D) Vitamin C
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{10 - D)

A Litmus paper test is conducted for solutions
I, II and IIT respectively with the following
results

1. Litmus turned red
1I. Litmus turned blue

III. Litmus didn't change colour

What conclusions can be drawn from this ?

(A) Solution I is acidic, II is alkali and IIT is

neutral

(B) . Solution I is acidic, II is neutral and IIT is '

alkali

(C) Solution I is neutral, IL is alkali and IIT is

acidic

(D) Solution I is neutral, IL is acidic and 1II is

alkali

Which of the following statements are true
about catalysts ? ’

I. It increases the rate of reaction.

1. It changes itself, at the end of the
reaction. '

III. Light can't be considered as a catalyst.

IV. Enzymes are biological catalysts. .
(Ay TandII _}(B) I and II

(©) TandIV (D) 1T and III

Which of the following is -an example of
invertebrate animals ?

(&) Fish

- (B) Eai‘thW(jrms and leeches

(C) Snakes and lizards
(D) Frogs

Which part of the brain is respons1ble for
different functions, such as movement, touch,
vision, hearing and thought ?

(&) Cerebellum
(C) Cortex

(B) Brain stem
(D) Thalamus
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LT ST AT T FTTIH
(D) TECATHYT I Hif AT § FHT FH
BT % HIOT I AT I8 AT

TS Rl § AT FEHT HT FSAWT b
TAHTT TSI AT Frar, ar gt s
SIS 6 W HT O AT HEAT |

TET FRAT § ¢ A Fawr gt F ameft g u%
2T, AT ATy e FT AT 3T |
T TR g ?

(A) AT T Tol g

(B) =rael ¢l T8l &

(C) Tw&H ST El TAT T8l g

(D) TR S 3y ST e

36.

37.

38.

(11 - D)

B)

" Tracy says

If in a transformer, primary winding has more
turns of wire than the secondary winding

‘then :

- (A) the output voltage at the secondary is

higher than the primary and as a result
current increases

the output voltage at the secondary is
higher than the primary and as a result
current decreases

(C) the output voltage at the secondary is
lower than the primary and as a result

current decreases
(D) the output voltage at the secondary is
lower than the primary and as a result

current increases

When a free falling skydiver outstretches his
arms and legs, what will immediately happen

. to the speed with which he is falling ?

(A) His spéed will increase because drag

becomes greater than gravitational force

(B) His speed will decrease because drag

becomes equal to gravitational force
(C) His speed will increase because drag

becomes equal to gravitational force

(D) His speed will increase because drag

becomes lesser than gravitational force

Alex says : If the Moon had twice the mass
that it does, the force between the Earth and
the Moon would be twice as large.

. If the Moon were half the
distance from the Earth, the gravitational

. force would be four times as large.

Who is correct ?

(A) Only Alex is correct

(B) Only Tracy is correct

(C) Alex and Tracy both are correct
(D) Alex and Tracy both are wrong
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Which of the following is 'a non-Indian
religion ?

(A) Buddhism
(C) Judaism

(B) Jainism
(D) Hinduism

Chandragupta’s advisor, Kautilya became

very famous for his great text

(A) Kamasutra
(B) Abhigyan Shakuntalam .
(C) Arthashastra

(D) Manusmriti

The first battle of Panipat was fought between 3
whom among the following ? k

(A) Rana Sanga and Babur

(B) Ibrahim Lodi and Babur

(C) Qutub Khan and Rana Sanga
(D) Akbar and Réna Sanga

Which  dynasty did Krishnadeva Raya, the
most famous ruler of Vijayanagara bélong to ?
(A) Maurya '

(B) Tuluva

(C) Sangama

(D) None of these -

Which of the followmg is arranged as per the
timeline of Major Periods in Early Indian

Archaeology ? .
(A) Neolithic — Mesolithic — Palaeolithic —
Harappan civilisation

.Palaeolithic — Mesolithic — Neolithic —»

Harappan civilisation

(B)
(C) Palaeolithic — Neolithic — Mesolithic —
Harappan civilisation

Harappan civilisation — Palaeolithic —

D)
* Mesolithic — Neolithic
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During the 15 - 16th century, for commercial
trade, Hundi was commonly used. What does
Hundi refer to ?

(A) A form of currency used to purchase
“goods

(B) Akind of bank used to keep money

(C) A marketplace where goods can be
bartered ‘

(D) Bills of exchange

Who among the following was popularly

known as Napoleon of ancient India ?
(A) Samudragupta (B) ChandraguptaIl
(C) Kanishka (D) Ashoka

Who among the following was responsible for
the destruction of the famous Somnath temple
on the Gujarat coast ?

(A) Muhammad Ghori

(B) Mahmud of Ghazni

(C) Bakhtiyar Khilji

(D) Qutb-ud-din Aibak

The study of Coins, including visual elements

such as scripts and images, metallurgical
analysis and the contexts in which they have

_been found is called

(B) kNumismatics

(D) History

(A) Epigraphy
(C) Archaeology

As per the power rule established in late
1700s in Bengal, which of the following is not

true ?
(A) Zamindars were responsible for paying
revenue to the Company.

B

©

Village ryot paid rent to the zamindar.

Jotedars gave out loans to other ryots
and sold their produce.

Ryots distributed the revenue demand
(jama) over villages.

(D)
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Who was the first President of the Indian
National Congress, founded in 1885 ?

(A) Motilal Nehru
(B) W.C. Banerjee
(C) Jawaharlal Nehru
(D) Mahatma Gandhi

Where, among the following places, did the
Ghadar Movement start ?

(A) Burma
(B) Australia
(C) U.SA.
(D) Japan.

In 1853, from where did the British-built

Indian railway system run its first train ?
(A) Bombay to Thane

(B) Bombay to Pune

(€) Bombay to Nashik

(D) Pune to Thane

Why was Doctrine of Lapse used by Lord
Dalhousie ? ‘

(A) Towage war with the State of Jhansi
(B) To annex the State of Jhansi

(C) To arrest Rani Lakshmibai, the queen of
Jhansi

(D) To execute Rani Lakshmibai

Which of the following is no# connected at all
with the purpose'of Mahatma Gandhi's Dandi
March ? : '

(A) Civil disobedience movement

(B) To disregard the provisions of the salt
laws

(O To garner countrywide mass

participation for Poorna Swaraj
(D) To boycott the foreign clothes
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" (A) OnlyIandII

Which of the following leader was considered .
as a part of moderate faction in Indian
National Congress after the Congress had
split between moderates

groups ?

{A) Lala Lajpat Rai

(B) Gopal Krishna Gokhale
(C) Bal Gangadhar Tilak
(D) Bipin Chandra Pal
Who among the following was the founder of
Aligarh Muslim University ?

(A) Badruddin Tyabji

(B) Hamid Ali Khan

(C) Maulana Abul Kalam Azad

(D) Syed Ahmed Khan ’

Who among the following led the abolition of

Sati influenced by the frontal attack launched
by Indian reformers ?

(A) Jyotiba Phule

(B) Gopalhari Deshmukh

{C) Raja Ram Mohan Roy

(D) B.M. Malabari

At which of the following session did Dadabhai

Naoroji declare Self-government or Swaraj as
the goal of the Congress ?

(A) Calcutta (B) Lahore
(C) Bombay (D) Surat

Which of these were main points of the

and extremists

Mountbatten Plan 7

I.  Punjab and Bengal = Legislative
Assemblies would meet in two groups,
Hindus and Muslims, to vote for
Independence with Partition.

II. Sindh would be part of Pakistan.

III. NWFP will be part of Pakistan while
Sylhet district of Bengal Wlll be part of
India.

IV. In case of partition, two dominions and
two constituent assemblies would be
created.

(B) Only I and III

(C) Onlyland1V (D) LIL HIandIV
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Traditional Phulkari embroidery style is most k{

T TR TS ? popular in which State ?
(A) TR ST . (A) West Bengal

(B) artee | - (B) Odisha

(C) G , : ‘ (C) Punjab

(D) ST TIA | (D) Uttar Pradesh

go. frforfea & & el IR = grett 60. Which among the following has Ragini as a

RUERIRIEE- % ? popular form of folk song ?
(&) HET TR ~ | " (A) Madhya Pradesh

®) i | | (B) Haryana

(©) T | (C) Rajasthan

(D) T ST ‘ _ (D) West Bengal

61. et 39 a; AT geqr & T IR |61, What do we call the market value of all final
T+t &7 AT o7 TR F T 99 H A
T AT AT T FAT Figl ST & ?

goods and services pxjoduced within a domestic

territory of a country measured in a year ?

(A) ST T T HHA T eI " (A) Gross Domestic Product at Market Prices

(B) ST W L ST A (B) GDP at Factor Cost

C) TR T X A T SUTE
© (C) Net Domestic Product at Market Pricgs

(D) TEATET AT U< UA.SLHT
(D) NDP at Factor Cost

62. AmaITHEIIN _ ®| |
: 62. Average propensity to consume is
(A) T TS T T a=d
: (A) the savings per unit of income.

(B) WA TS o I ITAN

(B) the consumption per unit of income.

,Y(C)qﬁﬁémﬁﬁﬂﬁﬂﬁﬁﬁ

(C) the change in savings per unit change in

LSRR _ ‘income. _
(D) Wi 2 TE A IiEad I8 STHET (D) the change in consumption per unit
qiEdT ' change in income.
HCR 2020 ) (16 - D)

62l
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(17 - D)

Which of the following statements are true
about the Silk Route ?

I.  The Silk Route was exclusively used for
trading of silk.

II. The route also served as a great channel
for the transmission of cultures.

III. The Silk Route bifurcates into Eastern,

" Western, Northern and Southern Silk
Route.

IV. Khotan was one of the most important
place on the Southern Silk Route.

(A) ITand IV

(B) I, 1II and III
(C) I, TIandIV
(D) LI, III and IV

Which of the following statements are true

with respect to Sufism ?

I. They pfeached- spirituality through music
and doctrines.

II. The Sufis were very conservative in their -

religious outlook.

III. The Sufis were organised into religious

orders or silsilahs.
IV. These started the tradition of piri-muridi.
(A) 1,11 and III
B) LIIandIV
(C) II, III and IV
(D) LILIIandIV
The difference between the value of | exports

and value of imports of goods of a country in a

given period of time is called
(A) The Balance of Payments (BoP)

(B) Overall balance of payments deficit
(surplus)

(C) Net Invisibles
(D) Balance of Trade (BoT)




66. W B aefir i afeer sl aqg *T1|66. India is part of which of the regional and

AT % ? ' global economic groupings ?
A  G7 ~ A G7

(B) G20 B)- G20

(©) SwerEmT ~ (C) ASEAN

(D) {ﬁ‘ﬁ'&'ﬂ"ﬂ' | : o (D) European Unién

67. ST TWW%WWW% ? 67. Who is the Supreme Commander of the

A ¥ e _ defence forces of India ?
R (A) Prime Minister

' - ' ‘ (B) Defence Minister
(© TPt

(C) The President
(D) &1 e

( , (D) Army Chief
68. AU & IeewA A & g HEw o |
fAsFEs w0 ngli%‘%im # gfraT & AT |68. Whose removal is initiated by the process of

RIS g ? impeachment for ‘violation ~ of the
(A) SI-TTFAT A Constitution’ »?

(B) TrEufa " ' (A) Vice President

© S PICEED ' . (B) President

(D) TATIRT (T » - (©) Prime Minister

(D) Speaker
69. XTSTHIGI SITeT T & ?

. 69. What is Fiscal Deficit ?
() Tt Rufy set wew fi e i wY

it SEE =T £ Eﬁ =y § e .Y A - situation when thé government’s

c income and tax receipts fail to cover its

_@ g ' expenditure .

(B) TATHTY H&F &YX EREEGES ﬂ'ﬁ&' (B) A sustained rise in the general pfice level

(C) TISTE 1 #X Tﬁ FA & o0 GE&R ' (C) The amount of money the Government
TR IR & T e ‘ borrows to overcome revenue deficit

' . v . ) (D) Afallin thé exchange rate which reduces
(D) fafT = # Rreree Sma o= 'ﬁﬁT@f the value of a currency in terms of other

Y AT YT H GeT TS ACATE © currencies

HCR 2020 (18 = D)




70.  S[-8TXOT H HIA- HTEEH TNTEA a0 § 2

(&) FeT =T SR FRmior St wwE
e

®) waw Futr SR g et
S et =T st

(©) Faeraut AT EAT

(D) AT SEf areey wiatatet, oo
T SATA=TCOT, 9T S gar

71, ST S TofrereT ¥ fore s & B [ gy
& IR T hivaa g7 o Strar 2
A S |
(B) HHTTO AT 1 FRATNAL T
EEELESI
HEHE [-qTAT
FAE TALT TTLATATE
72. WCHE Wiemw FmRw ¥ ¥ R
IETEIT 8 ? -
(A) FEF ST T @ gar auar a9
TTer
(B) ATT-AT SMETRT TSR TOTTAT
(C) HHTET TReAor Tl
(D) R % STRT STer 9=
73. HleHS! T IeT g
I ScATEEdT SETl
II. eI ] SETaT & T
III. AAELAATHT (AT
V. fR=Ta T agrar & T
V. [T s AT sEET
(A) I, IS II
(B) II, I AT IV
(©) 1,11, I X IV
(D) LILIIL IV3RV

70.

©
D)

72.

73.

HCR 2020 (19 - D)

‘Which factors contribute to soil erosion ?

(A) Only rain and human activities like

construction

(B) Only human activities like construction

and overgrazing of animals
©
(D)

Only rain and wind
like construction,

overgrazing of animals, rain and wind

Human activities

For horticulture and floriculture, which of

these is not a focus area ?
A)
B)

Seed farms

Promoting  sustainable

- aquaculture

practices -
©
D)

Bee-keeping

Tissue culture laboratories

Surface mulching is an example of which

among the following ?

(A) Mechanical and agronomic soil and water

W‘ o =

conservation
(B) Watershed based management system
(C) Resource conserving technologies

(D) Water harvesting through tanks

The purpose of the subsidy is :

I. Productivity Enhancement
II. Promotion of Technology °
ITII. Infrastructural Development

IV. Export Promotion

© V. Toincrease the pfoﬁt of farmers

" (A) I, ITandIII

(B) I, Il and IV
(C) LILIIIandIV

(D) LILIIL, IV and V
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Ad Valorem Tax refers to :

(A) tax imposed on the price charged in the

market

(B) tax imposed on the producers irrespective

of the level of output produced

(C) tax imposed as a levy on the units of
output produced

(D) tax imposed on the income of the
producers

What is acidification and nitrate leaching ?

(A) Oxygen depletion  reducing  fish

population and species diversity
(B)
©

A process of chemical seepage into soils
Impact on air quality manifests in terms
of nitric acid gas emissions

(D) Use of natural gés to manufacture

inorganic fertilizer

Which of these measures will have negative

impact on environment ?

(A) Tillage

(B) Watershed based management system
(C) Resource conserving technologies

(D) Water harvesting through tanks

A method of growing two or more crops
simultaneously without any definite row

pattern is called

(A) Mixed-cropping
(B) Sequence-cropping
©) Inter-crdpping

(D) Relay/Ratoon-cropping
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of the following are effects of

over-irrigation and poor drainage ?
I.  Waterlogging

I Soil salinization

III. Water tables rising artificially

V. Preventing plant roots from getting

adequate oxygen
Tand II
I and IIT

(A)
B)
©
(D)

L III and IV
I II, IIT and IV

Contour cultivation, contour strip-cropping,

mixed-cropping and tillage are examples of
which of these terminologies ?

(A) Integrated pest  and nutritional
management
(B) Mechanical aqd agronomic soil and water

conservation v
(C) Watershed based management system
(D) Resource conserving technologies

For sucéessful inter-cropping, which of these
conditions are required to be ideally fulfilled ?

I.  Competition for light should be minimum
among the different crops sown.

II. Complementarity must exist between
Crops Sown.

III. The time of peak nutrient demand of

component crops should not overlap.

IV." The difference in maturity of component

crops should be at least 120 days.
(A) I,IIand IV
B)
(®)

D).

IT, I and IV
I, II and ITI
III and IV
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'

What are the organisms which feed on the
wastes or dead bodies of other organisms such
as mites and earthworms called ?

(A) Omnivores (B)  Decomposers
(C) Carnivores (D) Detritivores
Which of the following soil is transported by
gravity ?
(A) Aeolian soil

(C) Alluvium soil

(B) Colluvium soil
(D) Glacial soil

India has successively passed through all the 5
phases of demographic transition and is now
widely believed to have entered the final
phase which is normally characterised by
rapidly declining Lo
(A) migration (B) crop rate
(C) fertility (D) interest rate
Which of the following is not included in the

common characteristics of urbanization ?

(A) A guaranteed high quality life

. (B) Shifting from agriculture to occupations
like services and industries ‘
(C) Transfer of population from the rural to
urban centres ‘ ‘
(D) Shifting from agriculture to the |
industries

Which of these are negative syndrome forces
of poverty-induced migration ?

(A)
(B)
©
(D)

Only Globalisation
Only Liberalization
Only Privatization

Gllobalisation, Liberalization,
Privatization

The final group of organisms in a food chain
of an ecosystem are bacteria and fungi, which
are called :

“(B) Producers
(D) Herbivores

(A) Decomposers

(C) Carnivores
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Which of the following are the functions of
growth rate of population ?

(A) Only fertility and migration

(B) Only fertility and mortality

(C) Only mortality and migration

(D) Fertility, mortality and migration

In an oversimplified concept of grazing food
chains, snakes can be categorized as

(A) Producer

(B) Herbivore

(C) Primary carnivore

(D) Secondary carnivore

Basic characteristics of urbanization in India
can be highlighted as :

I.  massive growth of slums

I1. industrialiiat’“ion and strong economic
base

III. poor quality of urbanization

Iv.

urbanisation occurs due to urban pull
OnlyIandIII  (B) OnlyIandII

(C) OnlyIandIV (D) OnlyII and III

The areas of low density suffer from either low
rainfall or rough terrain or harsh climatic
conditions or a combination of these factors.
Which . of the following areas has a similar

~ condition ?

(A) Puducherry (B) Sikkim
(C) Daman and Diu (D) Delhi

Which of the following are brown carbon
emissions ?

Carbon captured by the world’s oceans
and coastal ecosystems

(B) Industrial emissions of greenhouse gases

that affect the climate

(C) Carbon incorporated into plant biomass

and the soils below

(D) Formed through incomplete combustion

of fuels
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of warm ocean surface waters along the coast

Which planet in our solar syétem has no moon
(satellite) ? "

(A) Jupiter
(C) Venus

(B) Mars
(D) Uranus

In which State is "the Sundarban delta"
located ? :

(A) Assam
(C) Bihar

(B) Odisha
(D) West Bengal

Which one among the following countries has ‘
the maximum number of neighbours ? -

(A) Brazil
(C) Canada

(B) Germany
(D) China

What are Tornadoes ?

(A) Powerful whirling winds, accompanied by |
funnel-shaped clouds

(B) A huge wave created by an underwater
earthquake, or by a volcanic eruption

(C) Powerful seasonal storms with low winds

(D) A vent in the Earth’s surface through
* which molten rock and hot gases escape

The name given to the occasibnal development:

of Ecuador and Peruis :
(A) El Nino (B) La Nina
(C) Katrina (D) Rita

Which of the climate shows the given
characteristics ? :

e Suitable for low growing mosses, lichenstlg
and flowering plants ‘ ‘

e Region of permafrost where the subsoil 1s
‘ permanently frozen f‘

e During summer very long duration of
daylight

e Short growing season and waterlogging
support only low growing plants

(A)
B)
(©)
(D)

Ice Cap Climate
Tundra Climate
Mediterranean Climate

High-land Climate
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What is Archipelago ? ;
(A) A iﬁiece of land jutting out into the sea

- (B) A group of islands that lie in fairly close

proximity

(C) A big geographical unit-which stands out
distinctly from the rest of the continent

(D) None of these

Uluru refers to :

(A) a massive block of sandstone which
stands almost in the middle of Australia

. (B) the world’s largest coral reef

(C) the world’s largest butterfly
(D) one of the largest cities in U.S.A.

According to Koéeppen’s Scheme of Climate

Classification, humid conditions are

“characterized by which of the given opt1ons ?

I. A -Tropical

II. B - Dry Climate

III. C—Warm Temperate

IV. D - Cold Snow Forest Climate
V. E - Cold Climate

VI. H - High-land

(A)
(B)
©
D)

I, IL, IV and VI
I, II, V and VI
LILIVandV
II, I1I, V and VI

In which continent is the country. Brazil-
located ? .

(A) North America

(B) Africa .

(C) South America

(D) Europe

Which of the followmg is the lowest place on
Earth ?

(A) - Death Valley

(B) Caspian Sea

(C) Dead Sea _
(D) Sundarban Delta
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. 103. 25 e, 2019 T IMF F T TATAT 5 &9 103. Who among the following was elected as the
¥ et & 9 & ﬁ?zﬁ'ﬁﬁf e el Managing Director of IMF on September 25, "'
T ? ‘ 2019 ?
(A) EEERET] AT (A) Abebe Aemro Selassie
® B & 4ot (B) Kristalina Georgieva
(©) T B (C) Tao Zhang
D) aT T (D) Gita Gopinath

104. FIH T F TG TATAT AT ﬁtﬂgw L o . :

Y e ﬁ'pa’ ¥ =T ﬁ—cﬂ'aﬂ' ¥ T T = . Which of the following is a recent innovative

initiative by PM Modi along with the UN chief
Antonio Guterres and other world leaders at
UN, under which an agreement is made to :
plant 150 trees ? "

(A) Gandhi Era of Violence
(B) Gandhi Solar System

(C) Gandhi Peace Garden

(D) Gandhi Alliance Group

(&) T & et 7
®) ey T e
() et erifer =
(D) T TEEET TR
105, e 6 TR W 2w w1 AT T E
mf@rﬁmmwﬁm?@ﬁﬁw

105. What is the name of !;hé tallest tower of Sri |
Lanka that was unveiled in Colombo city in

AT AT ? September 2019 7
(A) EH TEx B) ozt (A) Lotus Tower  (B) Ping Tower
(©) FEASET (D) AT (C) LionTower (D) Lanka Tower -

106. St = wE@ETTC TR, 2019 H

. 106. The Fourth Indian Ocean Conference, 2019,
Frafrfea § & B o 1= s B |

was held in which of the following places ?

AT AT ? . (A) Hanoi (B) Colombo
(A) 5”% (B (C) Singapore (D) Male
(© fEgE (D) AT

107. United Nations observed World Day against;
Trafficking in Persons on ,2019.

107. TF ¥ T AN qewd ® e |

feag . 2019 T FATAT 9T |

' ‘ (A) August 29t
(A) 29 3ITEq

B) July 30th

30 w ( ) uly 30
©) 9 f@Es< (C) September 9
(D) 1 37T (D) October 15

HCR 2020 (26 — D)
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(©
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(A) FATeH
(B) @lTaT'sré“fer
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(A) SRTEEIE B-830
(B) EIE4IE B-730
(C) THTEAIE A-803
(D) W‘:—E—ﬁzA-e,os

29 S, 2019a?rmwu§ﬁrmﬁmﬁ
oara =7 fowe o

(A) TIT [T T8 (SDGs)

(B) STTErRTI Fifeaeh 3 qora=iy smsamere
(C) Jera=H Tifeh

©) aTRE fE

108. Prime Minister Shri Narendra Modi launched

109.

the Fit India Movement at a ceremony in New
Delhi on the occasion of National Sports Day
on , 2019.

(A) 25th September
(B) 29tk August
(©) 13% July

(D) 11% October

"Kalvi Tholaikatchi", the exclusive education
TV channel aimed at benefiting students, was

launched by the Chief Minister of which.
Indian State ?

(A) Karnataka
(B) Andhra Pradesh

- (C) Kerala

110.

111.

(27 -

D)

(D) Tamil Nadu

Which from the following is the Humanoid
Robot that Russia has launched into space in
August 2019 ?

(A) Skybot B-830
(B) Skybot B-730
(C) Skybot A-803
(D) Skybot A-308

The theme of National Statistics Day observed
on 298 June, 2019 was:

(A) Sustainable Development Goals (SDGs)
(B) Quality Assurance in Official Statistics
(C) Administrative Statistics

(D) Social Development



112, e ﬁ- T BT =9, T BT 112. Who among the following has been elected as

N5 A (FIEO) ¥ AT AT ¥ w7 ¥ B the new Preéide';it of Federation of Indian
Export Organisations (FIEO) ?

W%? 5 (A) Sushil Patwari
ushil Patwari
, &) A . (B) Sharad Kumar Saraf
B) A= i IRNA (C) Mahesh Chandra Keyal
(©) TR FF FATH (D) Ajay Sahai
D) T T | | |
. ,, ) . 1138. The ‘241?11. World Energy Congress was held
113, 9 — 12 Re 2009 A H 2477 from 9t — 12t September 2019, in '
ek ar ke el CRERINRURIN (A) Istapbul .  (B) Daegu
(A) TEAES ®) =T (C) Abu Dhabi (D) Moscow
OEEECIED (D) WIERT |
: 114. Which of the following country ranks 15 in the
114. IMD IEECAEINCE WW T 2019 H IMD World Digital Competitiveness Ranking
ﬁaﬁrf@ﬁﬁ@raﬁ?{-'méwq{«‘rwq'{%? 20197
() HITH T AHTCH () USA
e : (B) Net?aerl.fmds
. (C) India
9 (D) China
(D) == -

s P S & 115. Who among the following IPS Officer has been.
115. 2019 | # 1PS appointed as the next Director General (DG)‘

IEEIAU ERIERER EEIL AT 9, of the country’s largest border guarding force,
BSF ¥ STer FETHRYE (DG) 6 T ¥ e BSF in July 2019 ? ' .
ERL “Z‘ﬁT; | (A) Ashok Kumar
(A) 3T9ITeh FHTT

_ (B) Vinod Chaubey

® FrE inod Chaubey
(©) Trsirer By , ©) Sanjeev Tripathi
() A3 el (D) V.K. Johri

116. AT F @ W{ T HTT AT ¥ |116. Which Indian sand artist has won the People’s
- e gL ¥ srniera aﬂﬁéﬁ'{r = I((ﬁEEFIT ~ Choice Prize at the International Sand?

%ﬁq’q‘r\'@m 2019, T NIeq EIEG] TEERTL Sculpting Championship 2019, held in Boston
frar 2 city of the US? o
(A) “{[.?{QT'H' qeATTh . S © (A) Sudarsan Pattnaik

(B) HTAE HHATL qrg . . (B) Manas Kumar Sahoo

©) H%ﬁT FHT EIEn) : (C) Sudhir Kumar Pandit

(D) ¥gl IHTH (D) Neha Umak

HCR 2020 : (28 - D)
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"+ (A) Network

122.

D)

Which of the following registers holds the
contents of data or’instruction read from, or

written in memory ?

(A) Memory Buffer Reg‘iéter
(B) Memory Address Register
(C) Index Register

(D) Program Counter

In microprogrammed control unit, subsequent

instruction words are fetched into the

(A) Instruction Register
(B) Transistor

(C) CMOS battery

(D) Progi'am Counter

Which among the following . carries control
information between the CPU and other
devices within the computer ?

(A) Control Bus (B) UPS
(C) ROM - (D) RAID

‘Which of the followmg is the full form of

oPC?.

(A) Optical Code Reading

(B) Optical Program Counter
(C) Operating Computer Resource

(D) Open Platform Communication

The computer that provides resources to other

computers on a network is known as which

among the following ?
- (B) Server
(C) Supercomputer (D) Microcomputer

Which among the following is used to identify
a user who returns to a website ?

(A) Cookies

(B) Plug-in

(C) Secripts

(D) None of the abdve
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In PowerPoint presentation, the collection of
images in Clip Art is :

(A) Ready to use ,
(B) Partially ready for usage

k (C) Not at all ready to use
(D) Unavailable

124.

Which among the following is used as an
identifier of mobile money ?

(A) MIMD
(B) MISD
(C) MMID
(D) MCID

What does E stand for in IMEIL codes of mobile
phones ? '

(A) Engage
(C) Electronic

(B) Equipment
(D) Ethical
Which among the following is notf an
advantage of E-commerce business ?
(A) High initial cost
(B)' Location independent business
(C) Convenient global reach
(D) Unlimited business hours
An Excel spreadsheet helps in:
(A) Sorting data _
(B) Arranging data easily
(C) Calculating numerical data
(D) All of the above

Which of the following is a ﬁrotective wall
which is used to prevent unauthorized access

o your comiputer ?

(A) Sidewall

(B) Firewall

(C) Wallpaper

(D) None of the above

Which one of the following attributes allows
display but prevents the users from modifying
or deleting an object ?

(A) Write only

(B) Read only

(C) Once only

(D) Modify only
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Which of the following is an online payment
mode ? '

(A) Cash on delivery

(B) Cash before delivery
(C) Demand draft

(D) NEFT

Which of the following topology is an
arrangement of the network, in which every
node is connected to the central hub, switch or
a central computer ?

(A) Star
(C) Ring

(B) Mesh
(D) Bus

Which of the following is the shortcut to create
a new presentation in MS PowerPoint ?

(A) Alt+W (B) Ctrl+Q
(C) Alt+H (D) Ctrl+N
To use . a uniform background

image/appearance to all the slides in a
PowerPoint presentation, choose :

(A) Same to All
(B) Apply to All
(©) All

(D) Apply

Which among the followmg is not an example
of Impact Printer ? ‘

(A) Dot matrix
(C) Line

®B) Daisy—Wheel
(D) Laser

What is the full form of PNG in the computer
image format ?

(A) Printable Network Graphic

(B) Printable New Graphical

(C) Port Natural Graphics

(D) Portable Network Graphics

What does X stand for in document formatting
language “XML” ?

(A) Expandable

(B) Executive

(C) Extensible

(D) None of these
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151.

152.

- 153.

154.

155.

Fill in the blank with the correct option : A

The cold weather has really ____ her health.
(A) effected

(B) affected

(C) affect

(D) effects

Choose the correct meaning of the given
proverb/idiom :

Jump on the bandwagon
(A) To get out of difficulty.
(B) To judge by appearance
(C) To join a popular trend
(D) To get into trouble ‘

Choose the correctly spelt word from the
options :

(A) Sacriligeous \

(B) Sacrilegious

(C) Sacriligious

(D) Sacrilegeous

In the given question, find out which part of
the sentence (I/IVIII/IV) has an error. Choose
the correct option accordingly.

You can drink / chocolate milk either /

I I
haute in the winter / or cold in the summer.
' 111 . v

A 1 '

® 1II

(C) HOr

D) Iv

Fill in the blank using the appropriate option :
. They say that a new baby is every

five minutes.
(A) born
(B) borne
(C) bore
(D) bourn
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156.

157.

158.

159.

160.

Choose from the optiohs, the correct synonym
of the given word : ’

Expediency

(A) Expense

(B) Convenience
(C) Disadvantage
(D) Altruism k

Choose from the options, the correct antonym
of the given word : '

Demure
(A) Humble
(B) Shy
(C) Arrogant
(D) Coy

Fill in the blank with the correct option :

The salesman Waé
down the country.

(A) usedto
(B) got used to
©) use
(D) uses

travelling up and

Clioose the correctly spelt word :
(A) Puritanical
(B) Puirtanical
(C) Pruitanical
(D) Pirutanical

Choose the correct meaning of given
proverb/idiom.
Hit the nail on the head

(A) Gotobed
(B) Do or say something exactly right

“ (C) Series of problems

- (D) Someone who lacks intelligence

- D)
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161. Fill in the blank with the appropriate option : | 166. Fill in the blank with appropriate tense form
of the word given in the bracket :

The thieves were equipped with _____ keys to ,

the safe. They (stay) in the hotel next to ours.
(A) duplicity v (A) have staying

(B) duplicates - ' . (B) was staying

(C) duplicate ' ‘ (C) were staying

(D) duplicacy ‘ , (D) had staying

162. In the given question, find out which part of | 167. Choose the appropriate active/passive form of
the sentence (I/II/II1) has an error. In case of | | the given passive/active sentence :
No error, answer would be (IV). Choose the
correct option accordingly.

Each of these / three roads lead /

The book Baking Delights was. published by
Penguin Random House.

.~ (A) The book Baking Delights had pubhshed

I il Penguin Random House.
to the railway station. / No error (B) Penguin Random House has
» 111 v published the book Baking Delights.
A 1 B) 11 (C) The book Baking Delights published
() III D) IV iy Penguin Random House.
: ; (D) Penguin Random House published the
163. Choose the correct alternative for the - book Baking Delights.

underlined part of the given sentence. In case | ya0
no improvement is needed, choose ‘No
improvement’.

. Choose the option that best expresses the
meaning of the given idiomatic expression :

‘ To kill the fatted calf
I calling her office at 4 o'clock yesterday

(A) To murder somebody

afternoon. B) To def it
(A) were calling (B) call (C; TO el e:;lt i strong competitor
(C) called (D) No improvement ( 0 cerebrate
‘ (D) To win a lottery
164. Fill in the blank with the correct option : 169. Choose the correct option that forms a
] ) : . meaningful complete sent'er;ce :
A diesel car is usually more | than a and we decided / playing up /
petrol one. 1 I
(A) economical (B) economy
. i Ananya came over / because hers was
(C) economics (D) economies : -
_ 111 v
165. Identify the part of speech underlined in the to use my car.
following sentence. o vV

You can check in online but you have to do it &) LILILIV,V

at least four hours before your flight. (B) IIL LV, IV,IL
(A) Preposition (B) Verb - (C) IV, ILILV,I
(C) Adjective (D) Noun (D) V,LILILIV
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170. Choose from the given options, the best

antonym for ‘Condemn’.
(A) Denounce
(B) Pardon
" (C) Convict
(D) Criticize

171. In the given question, find out which part of

the sentence (I/II/III/IV) has an error. Choose
the correct option accordingly.

A fire / has broke out /
I Im .
at a disused hotel / on the seafront.
I v

A I
®) 1I
(C) III
o v

172. What is the synonym of the word “Ecstasy” ?
(A) Delight

(B) Agony

(C) Despair

(D) Torment

173. What is the synonym of the word

“Intrepid” ?
(A) Timid

(B) Valiant
(C) Mousy -
(D) Coward

Choose the option that is the antonym of the
given word :

174.

Spendthrift
(A)
(B)
(©
(D)

Extravagant
Spender
Stingy
Wastrel

HCR 2020

175.

178.

176.

177.

179.

(C) Amenity

180.

Which of the following words can be used as

both, a noun and a verb ?
(Aj Presume

(B) Permit -

(C) Prestige

(D) Presser

Fill in the blank using the correct option :
The nation’s has made two- and even
three-car families the norm.

(A) poverty
(B) dearth
(C) affluence
(D) crisis

What is meant by the idiom “Far cry from” ?
(A) Very distant

(B) Very different

(C) Very old wound

(D) Very shrill scream

Complete the given sentence using the correct
option : :

They stand ______ crimes against humanity.

(A) accuse or

(B) accused of

(C) accuse only

(D) accuse within

Which of the following options is the opposite
of the word “Comity” ?

(A) Courtesy

(B) Hostility

(D) Benevolence
Which of the following is meant by the idiom
“Hit the sack” ? -

(A) To go to bed

(B) To make good use of opportunities .
(C) To do the right thing '
(D) To work hard




181.

182.

183.

184.

185.

HCR 2020

Which
correctly ?

(A) Shilouette
(B) Silhouette
(C) Shiluoette
(D) Silhuoette

of the following words is spelt

Complete the sentence using the appropriate
option :
He was promoted to the rank of Major in

recognition of his during the battle.
(A) wvalour

(B) timidity

(C) wimpiness

(D) cowardice

Which of the following is meant by the word
“Detritus” ?

(A) A sum of money that somebody owes

B) Seif-harm or damage

' (C) Waste material

(D) Someone who criticizes unfairly

Change the following sentence into passive
voice : ‘

I remember my father taking me to the
theatre.

(A) I remember been taking to the theatre by ‘

my father.

(B) I remember being taken tothe theatre
my father. _

(C) T remember being taken to the theatre by
my father.

(D) I remember been taken the theatre by

my father.

What is the correct meaning of ‘knackered’
in the following sentence ?

I'm too knackered to go out this evening. -
(A) Energetic

(B) Tired

(C) Happy

(D) Angry

(37
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186.

187.

188.

‘Complete the analogy :-

William Shakespeare : Venus and Adonis
William Wordsworth : ? '

(A) A Complaint

(B) Modern Love

(C) Fireflies in the Garden
(D) Love and Death

Choose the correcﬂy spelt. word from the
following :

(A) Schrizophenia

(B) Schizophenia

(C) * Schyzophrenia

(D) Schizophrenia

In the given question, find out which part of
the sentence (I/II/III/IV) has an error. Choose
the correct option accordingly. '

Are you coming / or is you staying at home /

189.

1 S 11
or will you go/ and see Mum ?-
11 v
A I (B) II
(C) 11 (D) Iv

In the given question, find out which part of
the sentence (VII/III) has an error. In case of
No error, answer would be (IV). Choose the
correct option accordingly. '

I tried to get the surgeon /

190.

I
to illicit that she just needed time /
I
to get used to the idea. / No error
' II1 o v
A I B I
(C) III (D) IV
What is the synonym of the word
Emaciated ?
(A) Lean "(B) Haggard

(C) Anger (D) Corpulent




191.

192.

- 193.

194.

195.

HCR 2020

(A

Choose the correct option which has the same
relation like that in the given words :
vociferous : noisy : : intransigent : ___

pliant
(B)
©)
(D)

docile
flexible

stubborn

Convert the following sentence into Simple
Past tense :

Vinay hears a strange noise in the night.

(A) Vinay will hear a strange noise in the
night. ;

Vinay would have heard a strange noise
in the night.

B)
©
(D)

Vinay heard a strange noise in the night.
Vinay has heard a strange noise in the
night.

Choose the appropriate one word substitute
for the given words/sentence : '

Fear of clowns
(A) Cynophobia
(B) Gamophobia
(C) Geraphobia
(D) Coulrophobia

Fill in the blank with an appropriate option :

Annu, though ill-equipped for the project, had
tried her best.
(A) for

" (B) nevertheless

(C) last
(D) if

Choose from the options, the synonym of the
given word :

Unassailable
(A) Vulnerable
(B) Insecure
(C) Invincible
(D) Unprotected

(38 -

196.
" options :

197.

198.

199.

200.

D)

(A)

. There are

Choose the correctly spelt word from the

(A) Persumptious
(B) Blatant ‘
(C) Cumullative
(D) Benovolent

Fill in the blank with the appropriate option :

The ancient fountain was hidden
trees.

the

(A) among
(B) form

(C) follow
(D) during

Change the given sentence from direct speech
to indirect speech :

Mr. Mathur said,
parents

Mr. Mathur said that he wanting to meet
my parents.

Mr. Mathur said he had wanted to meet
my parents.

“l want to meet your

(B)

(C) Mr. Mathur said that he want to meet my

parents.

Mr. Mathur said that he wanted to meet
my parents.

(D)

Fill in the blank with the correct option :

That white house over there

belong to
my family. '

“(A) used to

(B) get used to

‘ (C) ever

(D) uses

Fill in the blank Wﬂ:h the correct option :

____ birds in the countrys1de now
than there were 30 years ago.

(A) much (B) alittle
(C) fewer (D) least
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IMPORTANT INSTRUCTIONS :

Read Carefully

1. Do not break the Question Booklet seal until
told to do so.

2. For writing or marking answer, use a
.BLUE/BLACK ball point pen ONLY which
you were asked to bring with you.

3. Mark all your answers on the OMR Answer
Sheet only. Only the OMR Answer Sheet will
be evaluated. ‘

4. Mark only one answer for each question.

5. Make sure that answer mark completely fills
the correct circle.

Correct way to mark your answers

Correct

® ® ® O]

Do not mark like this
Wrong

® ® &0
®® o0
® 6 ©0
®®oe0
® Q=D

CAUTION 1!

- If you do not follow the above instructions, your

- Answer Sheet cannot be evaluated by the
electronic scoring machine (Optical Marker
Reader), and it will reject it.

D)




1 178 A
2 179 147 D
3 180 148 C
4 181 149 A
5 182 150 B
6 183 151 D
7 184 152 A
8 185 153 C
9 186 154 B
10 187 155 C
11 188 156 D
12 189 157 B
13 190 158 C
14 191 159 C
15 192 160 C
16 193 161 B
17 194 162 B
18 195 163 B
19 196 164 D
20 197 165 45 A
21 198 166 46 B
22 199 167 47 B
23 200 168 48 A
24 85 169 49 B
25 86 170 50 C
26 87 171 51 A
27 88 172 52 B
28 89 173 53 ~ Question Discarded -
29 90 174 54 B
30 91 175 55 D
31 92 176 56 C
32 93 177 57 A
33 94 178 58 C
34 95 179 59 [
35 96 180 60 B
36 97 181 61 A
37 98 182 62 B
38 99 183 63 A
39 100 184 64 B
40 101 185 65 D
41 102 186 66 B
42 103 187 67 C
43 104 188 68 B
44 105 189 69 C
45 106 190 70 D
46 107 191 71 B
47 108 192 72 A
48 109 193 73 C
49 110 194 74 A
50 111 195 75 B
51 112 196 76 A
52 113 197 77 A
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198 7 D
54 115 199 79 B
55 116 200 80 C
56 117 85 81 D
57 118 86 82 B
58 119 87 83 C
59 120 88 84 A
60 121 89 85 ;;}7'!; D
61 122 90 86 A
62 123 91 87 D
63 124 92 88 D
64 125 93 89 A
65 126 94 90 B
66 127 95 91 B
67 128 96 92 C
68 129 97 93 D
69 130 98 94 D
70 131 99 95 A
71 132 100 96 A
72 133 101 97 B
73 134 102 98 B
74 135 103 99 A
75 136 104 100 C
76 137 105 101 C
77 138 106 102 C
78 139 107 103 B
79 140 108 104 C
80 141 109 105 A
81 142 110 106 D
82 143 111 107 B
83 144 112 108 B
84 145 113 109 D
85 146 114 110 ~ Question Discarded
86 147 115 111 A
87 148 116 112 B
88 149 117 113 C
89 150 118 114 A
90 151 119 115 D
91 152 120 116 A
92 153 121 1 D
93 154 122 .2 B
94 155 123 3 A
95 156 124 4 A
96 157 125 5 Z C
97 158 126 6 D
98 159 127 7 C
99 160 128 8 A
100 161 129 9 B
101 162 130 10 B
102 163 131 11 C
103 164 132 12 B
104 165 133 13 A

Page 2 of 4




14

C
106 167 135 15 C
107 168 136 16 D
108 169 137 17 B
109 170 138 18 C
110 171 139 19 C
111 172 140 20 B
112 173 141 21 B
113 174 142 22 B
114 175 143 23 B
115 176 144 24 C
116 177 145 25 D
117 11 27 139 D
118 12 28 140 A
119 13 29 141 B
120 14 30 142 B
121 1 31 143 D
122 2 32 144 A
123 3 33 145 A
124 4 34 146 A
125 5 21 147 D
126 6 22 148 C
127 7 23 149 A
128 8 24 150 B
129 9 25 137 B
130 10 26 138 B
131 54 64 170 B
132 55 65 171 B
133 56 66 172 A
134 57 67 173 B
135 58 68 174 C
136 59 69 175 B
137 60 70 176 C
138 61 71 177 B
139 62 72 178 B
140 63 73 179 B
141 64 74 180 A
142 15 75 181 B
143 16 76 182 A
144 17 77 183 C
145 18 78 184 C
146 19 79 185 B
147 20 80 186 A
148 21 81 187 D
149 22 82 188 B
150 23 83 189 B \
151 24 84 190 Question Discarded
152 25 35 191 D
153 26 36 192 C
154 27 37 193 D
155 28 38 194 B
156 29 39 195 C
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157 40 196 B
158 ‘ . 41 197 A
159 42 198 D
160 43 199 A
161 ‘ 44 200 C
162 , 45 151 B
163 46 152 C
164 47 153 g’ B
165 48 154 [
166 49 155 A
167 50 156 B
168 51 157 C
169 52 158 A
170 53 159 A
171 54 160 B
172 55 161 C
173 ‘ 56 162 B
174 57 163 C
175 58 164 A
176 59 165 A
177 60 " 166 C
178 61 167 D
179 62 168 C
180 63 169 B
181 7 120 D
182 8 121 B
183 9 122 A
184 10 123 A
185 11 124 C
186 12 125 B
187 13 126 A
188 14 127 D
189 15 128 B
190 16 129 B
191 17 130 D
192 18 131 A
193 19 132 D
194 20 133 B
195 1 134 D
196 2 135 D
197 3 136 C
198 4 117 A
199 5 118 , A
200 6 119~ A
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